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R 3 ‘Dyarchy’ or ‘Dual Government’ was introduced by which Act of Govt. in

preindependence India 7

(A)

(B)

(&)

(D)

Government of India Act, 1892
Government of India Act, 1909
Government of India Act, 1919

Government of India Act, 1935

2 Philosophy of Indian Constitution has been derived from :

(A)

(B)

(C)

(D)

3. Electoral system of India consists of :

(A)

(B) Proportional representation only

(C) Territorial, functional and proportional

(D)

American Constitution

Canadian Constitution
British Constitution

Objective Resolutions of Nehru

First-past-the-post-system only

Functional representation only
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PGT(POLITICAL SCIENCE)-2016
HHY : 2 HU2) [gorfss @ 100

1. KA H et A @ 'Ry v’ @ el v weem 5o & fea sfufas
% IFrla YE H MW ?

(A) WA R afufEe, 1892
(B) WRA™ WORR sfafEm, 1909
(C) Wiy "R sufaH, 1919
(D) WIdra TR AfafEm, 1938
2. yrda dfayE w1 geiE frea | fem o ® e
(A) Eft d@faum
(B) HTa1 % Hiau™
(C) fa2m & wfaum
D) & F RYF y@w@E
3. g giE ugha # fifem ¥ .
(A) ®ad wgq-yRe-R-9re-vgfa
(B) ®a@ squias wiaffas
(C) wRfem, wwaiew wa snqufas wiaffuas

(D) Fae weais wfafius
PGT(POL.SCI.)»-2016—A 3 P.T.O.



Authority to alter the boundaries of states in India rests with whom :
(A) State Government (B) Parliament
(C) Prime Minister (D) President

In which of the following cases the Supreme Court of India gave verdict that

the Preamble is part of Indian Constitution ?

(A) Golak Nath Case (B) Babari Masjid Case

(C) Minerva Mills Case (D) Keshavanand Bharti Case
In India, the Right to Education is now a :

(A) Legal Right (B) Political Right

(C) Natural Right (D) Fundamental Right

Judicial Review provided in Indian Constitution is exercised according to the

principle of :

(A) Due process of law

(B) Procedure established by law
(C) Arbitration

(D) Natural justice

PGT(POL.SCI.)-2016—A 4
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4 uEe # usd w1 AW sgen W v fRee um g ¥ 2
(A) U= TIHN (B) 49
(C) wa[ wH (D) w9

5. mﬁ%mmﬁmnﬂaw%mﬁmmm

feer 5w ?
(A) T . (B) =h e W
() Toai foew &9 (D) HyEFEE WA 9

6. wra # foan w1 wfwwn om fAw A9 A ® 2
(A) Fufs sfaFn (B) TEmias SifHER
(C) “afifs afewn (D) ifew sfuwr
7. mﬁﬁmﬁmmgﬂmﬁnﬁzhﬁmmmfz
(A) A # 3faa wiEEr
(B) A W =fua Wi
(C) faar=m

D) Fufifs ==
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8. The Cwemor does not appoint the :

(A) Judges of the High Court

(B) Chief Minister

(C) Advocate General of the State

(D) Chairman of the State Public Service Commission
9. The Panchayati Raj is included in the :

(A) Union List (B) Concurrent List

(C) State List (D) Residuary List
10. 'The Rajya Sabha has exclusive jurisdiction in :

(A) Approving a proclamation of Emergency

(B) The creation and abolition of State

(C) The election of Vice-President

(D) Authorize Parliament to legislate on a subject in the State list

11. In which case did the Supreme Court of India give the doctrine of ‘Basic

Structure’ of the Constitution ?
~ (A) Golaknath Vs. State of Punjab
(B) Maneka Gandhi Vs. Union of India
(C) Keshwananda Bharti Vs. State of Kerala

(D) Minerva Mills Ltd. Vs. Union of India
PGT(POL.SCIL.)-2016—A 6



8 oo femwl fafem 8 = & 7
(A) Tv9 <EEd F A
(B) & H
(C) T & Uzamhe A&
(D) T & wF FE G H FAG
9. vEmE T fewd wiefa g 2
(A) &= FHI (B) Twadl gt
(C) =9 g (D) ewEfers I
10. fea fawa w o7 @ = fafere o (wiaFR) @G ¥
(A) HIEHTH T SN F IR
(B) U=E @ fwim wa fames
(€) 3y-Tegafa &1 Fraf=s
(D) T g F fed fama m wEp v & fag wee @ sfeda s

11. warem a3 f5e gwen | dfawm # 'ym @R w1 s@umn @ wfagee
e ?

(A) MEHENY &AW YSE T
(B) B Tt wATR WHAE €Y
(C) HVEFE YR S &E 19

) fowal foew & &= SwRdE =9
PGT(POL.SCIL.)-2016—A 7 P.T.0.



12. What does Article 21A of the Constitution of India deals with ?
(A) Free and Compulsory Education to children aged 6-14 Yrs.
(B) Freedom of Speech and Expression
(C) Protection of Life and Liberty
(D) Protection of Language, script or culture of minorities
13. Who has the sole authority to decide whether a Bill is a Money Bill ?
(A) Speaker, Lok Sabha (B) President of India
(C) Chairman, Rajya Sabha (D) Chief Justice, Supreme Court
14. Who is known as the ‘First Law Officer’ of the Government of India ?
(A) Attorney-General of India
(B) Advocate-General
(C) President, Bar Council of India
(D) Chairman, Human Rights Commission

15. Judgement of Supreme Court in Indira Sawhney Vs. Union of India

relates to :

(A) Reservation for OBC

(B) Reservation of Scheduled Caste
(C) Reservation of Minorities

(D) Reservation of Scheduled Tribe
PGT(POL.SCI.)-2016—A bo)



13.

14,

15.

wrdta wEuE #1 seee 1% fean geEfua ¥ 2

(A) 6 3 14 38 & Bt F=a1 & o gw foen

(B) waw 7 sfvesfa &1 w@add

(C) Sitem & w=a=a &

(D) FETHEEFT HI UMW, NG F FEpia w1 G

faeht ot o = o faw A W owEwE o afiER R R O2
(A) 278, @ | (B) wrdta gy

(C) =M, 59 9 (D) & A, qated e
frl wie TR ‘ugd ) i’ & w9 § 9 W@ g2

(A) 9HG & WERHER]

(B) wfees

(C) @Ay, AR HiEe

(D) HeAw, THANGHER HE0

wates =mEE w1 =0 @ €99 wwr fofa e datia 2
(A) ‘s feg =i & sram

(B) srgfaa =nfa & e

(C) HeqaEg®l & A4

(D) rgfaa seenfa & Smam
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16. Howmany languages are there in the Eighth Schedule ?
(A) 18 (B) 20
(C) 19 (D) 22

17.  Which Schedule of the Constitution of India contains provisions for the

disqualification of a legislator on grounds of defection ?
(A) X-Schedule (B) XI-Schedule
(C) IX-Schedule (D) XII-Schedule

18. What is the maximum period that shall not intervene between ‘last sitting
in one session and the date appointed for first sitting in the next session’

for each House of the Parliament ?
(A) 6 months (B) 3 months
(C) 9 months (D) 180 days

19. Under which Article of Indian Constitution amendment process has been

described ?
(A) 361 (B) 364
(C) 368 (D) 370

PGT(POL.SCI.)-2016—A 10



16.~ st gt # fwed wmd € 2

17.

18.

19.

(A) 18 (B) 20
(C) 19 (D) 22

wredt dfaaE w5 S g 7 e § e SR T WEEl 61

F1 g & 7
(A) FTFFE-X (B) FHFA-XI

(€) FFE-IX (D) FFgE-XII

W%uﬁamﬁmmaﬁ‘dﬁmmwﬁm%mmaﬁmm'
ﬁﬂamm@mamt ?

(A) 6 HE (B) 3 wHig

(C) 9 wE (D) 180 f&=

w daE e sk § wuea whEa @ oAk R o 2
(A) 361 (B) 364

(C) 368 (D) 370
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21.

‘Electoral College’ for the election of President of India consists of :
(A) all the members of Parliament
(B) all the members of State Legislative Assemblies

(C) all the elected members of both the Houses of Parliament and elected

members of State Legislative Assemblies
(D) None of the above

Within which time period an ordinance promulgated by the President be laid

down before both the Houses of Parliament after their reassemble ?
(A) Six months (B) Six days
(C) Six weeks (D) Two months

Which Article of the Indian Constitution mentions about President’s power

of Pardon ?
(A) Article 52 (B) Article 62
(C) Article 72 (D) Article 82

Financial emergency under Article 360 has been imposed in India in

the year :
(A) 1962 z (B) 1965
(C) 1971 (D) None of these

PGT(POL.SCI.)-2016—A 12



21.

R Tufa ® gAE ¥ g Avew # frefafae wfwfan @@ € 2

A) Tw & i wE

(B) Tog faurmuessl & Wt W=

©) T o T B T ™ W ™ v 9 5w
(D) I § F F¢ T

HEE & A TA ® TA: e w4 @ fhad @99 9% A g0 S IRy

H UEE P TeA@ W TEA Bl ¥ 2

(A) ©: TE (B) ®@: &=

(C) ©: FaE (D) = WE

wRda wfavm ® e sgek & sl oeafa Y oamn T @ sfyew ¥ 2
(A) =R 52 (B) 3IT=% 62

(C) =g 72 | (D) =R 82

g H SR 360 ® oFwia fawia smuawrer H1 U fEm oad A &t g 2
(A) 1962 (B) 1965

(C) 1971 (D) T [ = of T

PGT(POL.SCI.)-2016—A 13 P.T.O.



25.

28.

What can be the maximum strength of Lok Sabha ?

(A) 545 (B) 547

(C) 550 (D) 552

Who presides over the Joint Session of Parliament ?

(A) President of India (B) Speaker of Lok Sabha
(C) Chairman of Rajya Sabha (D) None of these

For how many days can Rajya Sabha delay the Money Bill ?
(A) 14 days (R) 60 days

(C) 30 days (D) Cannot delay

How many members of Lok Sabha join the Public Accounts Committee ?
Aa) 7 (B) 16

(C) 15 (D) 22

All India Services under Article 312 can be created by :

(A) Lok Sabha - (B) Rajya Sabha

(C) Parliament (D) Prime Minister

PGT(POL.SCL.)-2016—A 14



on. i wn # wwal W s den fred A wwd € 7
(A) 545 . (B) 547
(C) 550 (D) 552
25. mﬁﬁwﬁmﬁmmmm%?
(A)"mhmﬁ (B) @R AWl HeAY
(C) T |9 AAY (D) wH & @ ft T
06, A fates @ g @ fEad e 2@ R wwdl ¥ 7
A 14w (B) 60 f&A
(©) 30 f&@ (D) 4 & F1 FHd
907 o S A # o @ R wee W R 2
(A) 7 (B) 16
(€) 15 (D) 22
28. aﬁsuﬁmmmﬁmﬂmmmmmt?
(A) @ | (B) - T9 Bl

(C) W= D) waA =3
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29.

30.

31

32.

Who was the First Speaker of Lok Sabha ?
(A) G.JV. Mavlankar (B) Anant Shyamam Ayyangar
(C) Sardar Hukum Singh (D) Balram Jakhar

Which of the following statements regarding Parliamentary and Presidential

form of governments is correct ?
(A) In both, the executives are responsible to the legislature
(B) In both, the Chief Executive is nominal

(C) In both, command of confidence of the legislature is necessary for the

executive to remain in office
(D) Both the forms of Government are representative in character
In which form of government, bicameralism is an essential feature ?
(A) Pregidential (B) Parliamentary
(C) Federal (D) Unitary
Which one of the following is a feature of Presidential System ?
(A) Separation of powers (B) Biparty system

(C) Supremacy of Parliament (D) Collective responsibility

PGT(POL.SCIL.)-2016—A 16



29.

30.

3L

—t

o TN % w99 Ay 9 4 7

(A) A HEEST (B) ¥ YA AT

(C) wwr %4 f&w (D) weH WEE

qo vd R wEE & wed § frafafas wedl d § e W g 7
(A) F # FrEwfaw faurmvea & wa soRE wd @

(B) 2 ¥ weu weufas A ®1 ad €

(© ©FE 8§ wm d W @ ¥ wewem gr faammves & favam wa w W

sfrad &
(D) 2 wwR F R wlative el ae a6 €
fra TR # g@ER § ey weed uw sEves favgm @6 R 2
(A) ITEALTHE (B) WA
(C) wara® (D) UTHHR
fre § } Fd fagmm aege SEe § Hafu § 7
(A) vfedl &1 ggaE (B) facia =waen

(C) HHg i gar=aal D) uHfed ITEHaE

PGT(POL.SCI.)-2016—A 17 P.T.O.



35.

37.

Origin of Pressure Group is generally associated with which country ?

(A) USA (B) India
(C) Russia (D) China

Which one of the follewing is not a technique applied by Pressure Groups

to influence policy makers ?

(A) Lobbying (B) Bandh

(C) Dharana | (D) Contesting election
Which of the following countries has unwritten Constitution ?
(A) India (B) England

(C) USA (D) Switzerland

Which of the following countries has one-party system ?

(A) India (B) China

(C) USA : (D) France

‘Filibuster’ is related to :

(A) A long speech in Parliament to delay a vote

(B) Opposition leader’s speech

(C) Prime Minister’s vote of thanks

(D) Speaker’s power to stop a member

PGT(POL.SCL.)-2016—A 18



33.

34.

A §4g %1 3@ T e 2w | wafua & 2

(A) Wi (B)

(C) &4 : (D)

b RG]

Eik!

#Hfa Fuafer w g 3 fa 0 | @ aFAE A T W TE e ?

(A) e (B)

(C) | (D)
35. fwm %w = wfaum sfafaa ¢ 2

(A) W (B)

(C) HAE (D)
36. fwe 2w # uw-z@a e ¥ 2

(A) wra (B)

(C) e (D)
37. ‘frfemst’ fead dafaa & 2

(A) Hug # & § < g o W

(B famsft F@ F1 yEw

(C) WuA WAl g AR 9

D) fadt Se = T%7 # aAafia vk
PGT(POL.SCL.)-2016—A 19
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38,

39.

40.

41,

42.

Who gave the concept of Iron Law of Oligarchy’ ?

(A) Robert Michels (B) Vilfred Pareto

(C) Karl Deutsch (D) Coleman

In which country Judicial Review is based on ‘Due Process of Law’ ?
(A) UK (B) USA

(C) India (D) Canada

Who propounded ‘Communication Theory” ?

(A) Norbert Weiner (B) Neumann

(C) R.C. Snyder (D) Robert Tucker

“Political System is that system of interactions in any society through which
binding or authoritative allocations are made and implemented ?” To which

political scientist would you attribute this statement ? :
(A) David Easton (B) David Held
(C) Gabriel Almond (D) Karl Deutch

Which is not an ‘intellectual foundation stone’ of Behaviorism according to

David Easton ?
(A) Regularities (B) Power

(C) Verification (D) Techniques

PGT(POL.SCIL.)-2016—A 20



39.

41.

42,

‘AT I EE FA W smEwn fEe a2

(A) aZ fudew (B) famhz T2

(C) = EFH (D) Frere

frm Tm # afas gEREEw CErE w S wfEm W osaRa ¥ 2
(A) fe (B) =

(C) Wi | (D) ==

‘ger fogi' w1 wfewea fFes e 2

(A) e diT (B) =i

(C) M4l wmset (D) a2 &t

et Sraen fedt wae | s feasi = aw womet § fowd gr avEEn @
T et w1 i w e g & A v fra oo el @ § 2

(A = dem (B) 2faz T2
(©) Hfaga s (D) =t 2tH
Pt # 3w e fem # s SRR F A s
& %2 '
(A) Frafieand (B) W

(C) T (D) TFA®
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43. The main characteristic of the traditional approach of Political Science

was |
(A) The Value Free Study
(B) Institutional Study
(C) Emphasis on Scientific Methodology
(D) Comparative Study
44. The famous book titled ‘Grammar of Politics’ was authored by :
(A) Harold J. Laski (B) John Locke
(C) Robert Michels , (D) C. Wright Mills
45. Who said “State is individual's writ large” ?
(A) Socrates (B) Cicero
(C) Aristotle (D) Plato
46. John S. Mill's idea of Liberty was :
(A) Positive
(B) Negative
(C) Both negative and positive

(D) Neither negative nor positive
PGT(POL.SCI.)-2016—A 22
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43. Torfe fram & sogune gfesm @ e wen 9 ?
(A) WA HE A=TA
(B) 4G eTAA
(C) Awfr wiafd o &
(D) TR AT
44. mm'mmm'%maﬁaa ?

(A) ez 3. ==l (B) =fH @&

(C) Tad favied | (D) = e faed

45. “‘uw =ifm & 9eg w9 ¢ 1" 3w e w7
(A) T&HUA (B) fwd

(C) 3E (D) @

46, 97 vy. foey & @oFa &1 faan &0 v 1 o9 ?

(A) H&HEIIE®
(B) &S
(C)'mqﬁmﬁﬁf

(D) 7 & THAEE Ud T & AEHREE
PGT(POL.SCL)-2016—A 23
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47. The idea that State is ‘to hinder the hindrances’ belongs to :
(A) T.H. Green (B) J.S. Mill
(C) Karl Marx (D) Hegel
48. Idea of Popular Sovereignty belongs to :
(A) Rousseau | (B) John Locke
(C) Hobbes (D) T.H. Green
49. Who said ‘Family is the only natural society’ 7
(A) Aristotle (B) Bosanquet
(C) T.H. Green (D) Rousseau
50. Who is not associated with Idealism ?
(A) Kant (B) Hegel
(C) Laski (D) T.H. Green
51. Who is not related to Anarchism ?
(A) T.H. Green (B) Proudhon

(C) Bakunin (D) Thoereau
PGT(POL.SCI.)-2016—A 24



47, Tz fram f& wew ‘awist # A w01 % faw ¥ fBRew w2
(A) A= W5 (B) #uH. =
(C) = weR (D) &
48. Erfug duym w faan fEeR dEtaa ¥ 7
(A) wH (B) =fA &%
(C) ¥EH (D) ZFum. WA
49, 7E frgd ww ‘wfEm @ daw AwflE wEw 2
(A) 3RE - (B) =i
(C) @ud. W (D) 40
50. ® sRYEw 4 Haftsa @ ¥ ?
(A) ®WE (B) €
(C) e (D) U= WH

51, 1 IUOEAER ¥ TEE T & ?

2

(A) FAu=E. 1A (B)

(C) =R (D) 40
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52.

53.

54.

‘Rule of Law' concept was propounded by :

(A) Dicey (B) Lasswell

(C) Garner (D) Leacock

“Imperialism is the last stage of capitalism.” Who said this ?

(A) Karl Marx (B) Mao-Tse-Tung

(C) Lenin (D) Stalin

Bentham was supporter of :

(A) Natural Rights (B) Historical Rights

(C) Ethical Rights (D) Legal Rights

Which contractualist thinker created both state and society by contract ?
(A) Hobbes (B) Locke

(C) Rousseau (D) Rawls

Who was: the first thinker to enunciate the ‘Concept of Sovereignty’ ?

(A) Machiavelli (B) Bodin

(C) Hobbes (D) Austin

PGT(POL.SCI.)-2016—A 26



52. ‘fafy =1 v # Hauwm ® Y@ wEEd &4 9 7
(A) =i (B) wrEIH
(C) T (D) i
53. “‘mmrvEw dEm w osfew wm ¥ ) aE e w2
(A) e HEd (B) al-s-gm
(©) =FA (D) w=feH
54. dgn T sfvedl & uds 9 7
(A) WrFaw awn (B) Ufaefas sfuwn
() s sfmr (D) = #Afamn
55. fea wwioEe faars 3 199 9 |Ee 26 & e wwea A e 2
(A) ®& (B) #@%
(C) .m D) W™
56. ‘v #1 amnon wHyew e faaws 3 wiwlkd @5 2
(A) FAfwamEet (B) #wei

(C) ¥ (D) ==
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57. ‘Liber' giving the sense of liberty is originated from which language ?
(A) Latin (B) Greek
(C) Spanish (D) English
58. Who introduced ‘hegemony’ in the concept of civil society ?
(A) Marcuse . (B) Habermas
(C) Althuser (D) Gramsei
59. Who described democracy as the tyranny of the majority ?
(A) Michels (B) Laski
(C) Aristotle (D) De Toqueville
60. Which Philosopher fixed that population of 5040 for Ideal State ?
(A) Plato (B) Aristotle
(C) Socrates (D) Polibius
61. The thesis ‘End of History’ belongs to :
(A) Samuel P. Huntington (B) Francis Fukuyax-na

(C) Joseph E. Stieglitz (D) Kenneth Waltz
PGT(POL.SCL.)-2016—A 28



57.

59.

61.

waaa & fou ‘fae’ e # safe e oy & g3 ® 2
(A) @feA (B) Wiw

() =fm ‘ (D) Efem

s wEe w1 sEaren # 'weg' v R owEm fEE 2
(A) T (B) &

(C) g (D) Tt

feoa womaa W ‘WgHa & Ragad FE 8 7

(A) TH9re™ (B) wre®l

(C) T (D) . AwHfEa
fra Twifir 3 seel 799 &1 SmEEn so40 fAfvea w5 4@ ?
(A) @2 ' (B) 3%

(C) H&Ua (D) ufafEags

7% faan & ‘sfmem @1 o’ feed ddfum & 2

(A) ®gus ql. €T (B)'mmwm

(C) =\w 3. Eiffees (D) F39 e
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62. Samuel P. Huntington has not given the idea of :
(A) Clash of Civilizations (B) Political Development
(C) Political Decay (D) End of History

63. Who gave the ‘Realist Theory’ in International Relations ?
(A) David Easton (B) Harold Lasswell
(C) Hans J. Morgenthau (D) James Rosenau

64. What type of International order prevailé according to realist 7
(A) Anarchical (B) Unipolar
(C) Bipolar (D) Multipolar

65. USA adopted which type of diplomacy during the Indo-Pak war of 1971 ?.
(A) Gun Boat Diplomacy (B) Multilateral Diplomacy
(C) Dollar Diplomacy (D) Shuttle Diplomacy

66. Which canal divides Africa and Asia ?
(A) Panama Canal (B) Suez Canal

(C) Baudouin Canal (D) Murray Canal
PGT(POL.SCL)-2016—A 30



62. #FwE . g A foa = fa=m w@ G ?
(A) W@ F ZFHa (B) wartfas fawmE
(C) ToFlas &3 (D) sfewa w1 34
63. sraiEra Has ¥ 'gadfEaw w1 fagE' R fagm S R ?
(A) Efag §= (B) ®ilee ergda
(C) #W 3. wAffur ' (D) 75 T
64, FAMGAEE & FTEH SIS FaRdl w1 REE @ a1 ?
(A) HOSHAAE] (B) TEE-YEH
() f-wim (D) =g-yE™
65. 1971 ® WNG-TEH q@ H i 3 e wHR B wEE W wam o2
(A) "™ #Z UFE (B) #@g-waty U=
(C) sfer T (D) RS THA
66, WYEr @ ankiw ® e T Eatie FwE § 2
(A) T T (B) ¥+ 7l

(C) #eEa At (D) wi w®
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67. Which one of the following was not an example of Collective Defence ?
(A) NATO (B) Warsaw Pact
(C) SEATO (D) UNSC
68. Gujral Doctrine was based on the principle of :
(A) Reciprocity (B) Non-reciprocity
(C) Hegemony (D) Unanimity
69. In which year was the Stockholm Conference on Environment held ?
(A) 1972 (B) 1982
(C) 1992 (D) 2002
70. ASEAN was formed in which year ?
(A) 1957 (B) 1977
(C) 1967 (D) 1997
71. When was WTO established 7
(A) 1st December, 1995 (B) 1st March, 1995

(C) 1st September, 1995 (D) 1st January, 1995
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67. Ffafma § {4 17 anfes w0 &1 e w@ 91 ?
(A) (B) aww #i
(©) @2 (D) wgFa g A iy
68. T fag Freferaa fogia § ¥ fe W snafa a1 2
(A) TR (B) fro-renfmal
(C) === (D) wdF=fa
69. fwm ad ¥ w=dm ¥ Hyg U= WA wEed g9 o 7
(A) 1972 ' (B) 1982
(C) 1992 (D) 2002
70. ‘afyEm’ w1 wwn feéw oad # @ ?
(A) 1957 (B) 1977
(C) 1967 (D) 1997
71. ‘fava =R @e’ # o e w2
(A) 1 fews, 1995 B) 1 HH, 1995
(C) 1 Toa=rz, 1995 (D) 1 SFEd, 1995
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72.

73.

T74.

75.

Which line divides India and Pakistan ?

(A) McMahon Line (B) Palk Strait

(C) Radecliffe Line (D) Durand Line

When was CTBT approved by the UN ?

(A) December, 1994 (B) March, 1996

(C) March, 1995 (D) September, 1996

Which of five are recognized Nuclear Power Countries ?

(A) USA, China, France, Russia, UK

(B) UK, France, Russia, India, USA

(C) USA, China, Korea, Germany, UK

(D) China, India, Pakistan, France, Russia

When was United Nations formed ?

(A) 24th October, 1942 (B) 24th October, 1946

(C) 24th October, 1945 (D) 24th October, 1947
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72.

73.

74.

#rit @ T awm 9 wiEwE w faafw w2
(A) FFHRA @ (B) Wi FAASHETA
(©) Eheas @ (D) FE @&

W T2 3 WAMA wa wika #} W ?

(A) femmR, 1994 (B) #rH, 1996

(C) ==, 1995 (D) faamr, 1996
T YR WA A uie & AR WE ¥ ?

(A) if, <, Wi, mﬁm

(B) faea, wig, &4, WRd, HAH

(C) arifeT, W, S, s, B

(D) ==, uRE, WiewE, W, 6

e TR F TN FE O ?

(B) 24 &AL, 1946

(A) 24 AL, 1942

(C) 24 AL, 1945 (D) 24 3@TE, 1947

PGT(POL.SCL)-2016—A 35

P.T.O.



76.

78.

79.

What does ‘democratization of UN’ stands for ?
(A) Democratizing General Assembly

(B) Democratizing Security Council

(C). Democratizing Economic and Social Council
(D) Democratizing all Organs of UN

First Chair of International Politics in the USA was established in 1919 in

the name of :
(A) Eisenhower (B) Woodrow Wilson
(C) Kenneth W. Thompson (D) EH. Carr

Who said “Collective Security is based on the principle of ‘One for all and

all for one’" ?

(A) Nicholas J. Spykman (B) Quincy Wright
(C) Hans J. Morgenthau (D) E.H. Carr
Who is considered as the father of Neo-realism ?

(A) Stanley Hoffmann (B) Morton Kaplan

(C) Kenneth Waltz (D) Joseph Nye
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76.

T,

78.

79.

TgE W ® TAEAEO Y S P sawg ¥ 2

(A) TEEMl FH WA

(B) wra uftag =1 WSEsHH

(C) wfdw @ wmfas uftwg &1 woEs

(D) ﬁgaaugiv;ﬂsirﬁmmsﬁwm

sifee A siadwg ToEa @1 wem e 1919 # frefafEa % Am A i
B o ?

(A) ESrelat (B) F= fazwa

(C) @9 T&=Y. ogEA (D) 3um. w1

fagy F@ e T ‘TE $ fou uw aw oE @ fag @ & fagle W
st &' 27

(A) Fem A wEE (B) Tt T3
(€) ¥4 3wt (D) fvE. #H
fFd TA-AUdaE H T WA TW T ?

(A) RAA RFEH (B) Hfén &

(C) H1Y awed (D) we% g
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81.

82.

Third Generation of Human Rights are known as :

(A) Social and economic rights

(B) Legal and political rights

(C) Political and economic rights

(D) Group and solidarity rights

Which of the following Glaciers is in Kangra District of HP.?

(A) Pacha (B) EKulti

(C) Shamundri (D) None of these

At which place does Tirthan stream join the Beas river 7

(A) Sainj (B) Shamshi

(C) Larji (D) Bhuntar

Which one of the following hot water spring is in Kullu District of HP. 7

(A) Jeori (B) Kasol

(C) Salol (D) Kalika Kund
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80. Wma sfuwrl #1 gAg @ F oS W ¥ o
(A) zmifss ud anfds sifasn
(B) 3wif® wa Toria® e
(C) usHifos wa enfdes sfasn
(D) ¥9e UA UsHoea ® e
81. Frafafea 4 / s femme (afomr) few. & =mez o # % 2
(A) g (B) et
(C) g (D) & & FE TH
82. ?ﬁd’ammmmmaﬁﬁfwﬁ?ﬂ%?
a) &= (B) it
(C) sl (D)

83, frefafea 4 wmm ™ o w1 9w ey @ F @ d § 2

(A) w8 (B) Fu
(C) TE D) Hew 52
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84. Which of the following positions proximates the status of raja of Mandi Princely

State of Punjab Hill States ?

(A) Raja was identified as a deity

(B) Raja was god's vice-regent

(C) Raja renounced his sovereignty in favour of god
(D) All of the above

85. Where did Nasir-ud-Din son of Feroz Shah Tughlak take shelter when he
was driven out from power by his two cousins around 1387 A.D. ? Find the

correct answer using the following codes :
(i) Mountains of Sirmaur

(ii) Kangra fort

(¢¢i) Malaun fort

Codes :

(A) Only (i) is true

(B) Only (it) is true

(C) Only (i) is true

(D) Both (i) and (ii) are true
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84. U@ % WRigt TN § uvEl fgmm & won w1 foufe Prafefas 4 @ 5 o=
ardl & 7

(A) TS #® Fagea H O
(B) T & YWEH &1 WaonEe " S 8
(C) T A ot wywW B yTeE w uw d wm e

(D) 39ga o

85. A friowm e & A2 FUR-3-99 #1387 F AM-UY IgE 99 9Ed 3
oW # w w wm fem @ 3w o & 2 H2 W W@ FW g0 Wl W

A
() Faodir =t vefedl 4
@) wE & fEd H
(i) wems & foar o
#E :

(A) #Faer () &l ¥
(B) ®ae (i) T
(C) = (jif) W&l &

(D) () 3 Gi) =4 od@ §
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86. Around which period was Chamba Princely State founded ?
(A) 550-600 A.D. (B) 400-500 A.D.
(C) 300-400 A.D. (D) 200-300 A.D.
87. What is the theme Ballads of Burah Dance ?
(A) tragic end of lovers (B) some natural calamity
(C) heroic deeds in battles (D) all of these
88. In which district of H.P. is Nargu Sanctuary ?
(A) Kullu (B) Mandi
(C) Bilaspur (D) Solan
89. Which of the following hydro-power projects is in Satluj river basin ?
(A) Gaj (B) Khauli
(C) Thirot (D) None of these
90. At which place in Hamirpur District of H.P. is Sheep Breeding Farm ?
(A) Nadaun , (B) Rail

(C) Rangas (D) Tal
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86. = fgrma w @ fFE wwE # s g 7
(A) 550-600 FHat (B) 400-500 ¥t
(C) 300-400 Tt (D) 200-300 Fwat
87. Fgw T A2H & ¥ faugag & ?
(A) W w1 gEmE (B) 1% wiFfaw aver
(C) 3% #1 Wd men (D) A @t
88. A WA few. & fem o 9 ¥ 2
(A) =T (B) =vE
(C) faremag (D) e
g9. Trfofas § ¥ Fd vo-far ofde gaea +d a2 § § 2
(A) TS (B) =t
(C) fai= D) o=@ | Fd T8
90. %3 wor Wi fed. & wiRp oo d few A w ¥ 2
(A) A (B) W
(C) T (D)
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91. Which Indian State’s tagline is ‘The Incredible State of India’ ?
(A) Madhya Pradesh (B) Rajasthan
(C) Uttarakhand (D) Arunachal Pradesh
92.  Which Jain Muni is known for his ‘Kadve Pravachan'?
(A) Arun Sagar (B) Varun Sagar
(C) Tarun Sagar (D) Karun Sagar
93. With which gport is Dipa Karmakar associated ?
(A) Wrestling (B) Badminton
(C) Shooting (D) Gymnastics

94. Which was the first Indian state to ratify the Goods and Services Tax

Bill (GST) ?
(A) Himachal Pradesh (B) Jharkhand
(C) Bihar (D) Asom
95. On which battle is Ajay Devgan's movie ‘Sons of Sardaar’ based ?
(A) Battle of Malaun (B) Battle of Ichhogal

(C) Battle of Kargil (D) Battle of Saragarhi
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91.

93.

‘WA W A T fRm v o w5 STeE § 2
(A) =g waw (B) AR

(©) IwrEE | D) sFoTEE W
S 9 99 ‘FEd woud' & few 9 s § 2
(A) 3®M | (B) =& AR
(C) &9 |IR (D) HF0 9
dm FHie fFe @@ ¥ e E 2

(A) =wdl (B) Fefiiea

(€) wfen (D) fornfeay

ag 3 Fa W faw (Rowd.) =1 spies F% aen Twe Rd 59 w1

qr ?
(A) foursa ww (B) w@Es
(C) famr (D) 35H

#9g 2 w1 Sew ‘T HE wEr' few @z w oaafa & 7
(A) =ensfl F1 w28 (B) T=ome &1 wen

(C) =nfe = wen (D) TR W w@EE
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97.

100.

Which country tried to ban Burkinis on the plea that they represent enslave-

ment of women ?

(A) Italy (B) France

(C) Germany (D) England
Jacob Zuma is the President of ...
(A) Namibia (B) Botswana
(C) Zimbabwe (D) South Africa

Which French Company is collaborating with India in building six scorpene
class submarines ?7

(A) CDNS (B) NDCS

(C) DCNS M) SDCS -

What is the full form of CAS which banned the Indian Wrestler Nar Singh
Yadav for four years at the 2016 Rio Olympics ?

(A) Council of Arbitration for Sports

(B) Committee of Arbitration for Sports

(C) Court of Arbitration for Sports

(D) None of the above

What was the venue of G-7 Summit held in Japan in May, 2016 ?‘
(A) Tokyo (B) Osaka

(C) Ise Shima (D) Kyoto
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97.

98.

100.

fFrg 239 X THAN W T¥ FF B TEG o9 T wiewr w1 R g wiwensdi w1 e
W TEE § 7

(A) weeit (B) wig

(C) =i (D) ¥&e

dwa 9 w2 & mzafa § 2

(A) =rifem (B) deqaEr
(C) forara : D) wfem awrE

WG # FAE w1 WRE § BF WA S @ wegfEdl R d wean
W R 7

(A) WFTEE (B) wA.Adus.
(C) FrwEwATE. (D) THEH.TE.

Huwm fomy 2006 fd e § e wgaas wiEE 9"a 9 =R 9 &6
wfaay @ # g0 AW ¥ ¥ 7

(A) wifga #ifw fdgym wR =EH

(B) #W fF anfdeye wR TN

(C) ®F sife anffzym wR =Ew

(D) Ivdw d | F§ T

¥, 2016 # WM # gy S-7 fen wdiem w1 we = oar ?
(A) Z= (B) ST

(C) w& (D) =
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